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(1) 53+8= (2) 68+59 =

(5) 2483 + 7156 = 6) 15-7 =

(9) 8243 — 1169 =

(13) 84 =7 = (14) (~11) x (+8) =

(17) 86 x 26 —86 x 11 =

(10) 62+19-37 =

(18) 4% =

(3) 218+ 378 =

(11) 54 x 3 =

(15) 9% 8+ 6=
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(7) 116 —58 = (8) 725 —418 =

(12) 83x 74 =

(19) 3x(=6) =18+ (=3)* =

ZEHa (

(4) 21+62+96=

(16) 20— 7x 2 =

(20) 84 (2—32) x5 = (21) 4.625 + 2.376 = (92) 59 x 4.7 =
2,8 _ 1.1 3 .17
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(1) 4760mm =

@2kg 0353 g

(3) 2 B8 30 4> —55 4 =
@50y ML=

(5) 30000cm? =
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(1) x+7=1-2x

(2) 0.07x—0.03 =012+ 0.1x
1
3) 5 x+3=2x
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(4) x% - 5x
(5) 3x%—27
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